

Affenkasten - Beweis

$f(x) = a(x^3 + 36x^2)$   
 $a=1$   
 $f(x) = x^3 + 36x^2$

$f'(x) = 3x^2 + 72x$   
 $f'(x) = 0 \Leftrightarrow 3x(x+24) = 0$   
 $\Leftrightarrow x=0 \vee x=-24$

Zu zeigen ist  $f(-2b) = f(b)$   
 $f(-2b) = (-2b)^3 + 36(-2b)^2$   
 $= -8b^3 + 12 \cdot 36b^2 = 46b^3$

$f(b) = b^3 + 36b^2 = 46b^3$

Übrigens WP:  
 $f''(x) = 6x + 72$   
 $f''(x) = 0 \Leftrightarrow 6x + 72 = 0$   
 $\Leftrightarrow x = -12$  mit Erwartung

$f(-b) = (-b)^3 + 36(-b)^2$   
 $= -b^3 + 36b^2 = 26b^2 = \frac{1}{2}(46b^3)$

Mit  $a \neq 1$  ist die Zahlenhöhe  $\boxed{2ab^3}$  Karadenhöhe  $\boxed{4ab^3}$  wie erwartet

Affenkasten - Beweis

$g(x) = a(x^3 - 6bx^2 + 9b^2x)$   
 $a=1$   
 $g(x) = x^3 - 6bx^2 + 9b^2x$

$g'(x) = 3x^2 - 12bx + 9b^2$   
 $= 3(x^2 - 4bx + 3b^2)$

Zu zeigen ist  $g(b) = g(4b)$

$g(b) = b^3 - 6b \cdot b^2 + 9b^2 \cdot b = 4b^3$   
 $g(4b) = (4b)^3 - 6b(4b)^2 + 9b^2(4b)$   
 $= 64b^3 - 6b \cdot 16b^2 + 36b^3$   
 $= 64b^3 - 96b^3 + 36b^3 = 4b^3$

WP:  $g''(x) = 3(2x - 4b)$   
 $g''(x) = 0 \Leftrightarrow 2x - 4b = 0 \Leftrightarrow x = 2b$  wie erwartet

$g(2b) = 2b^3 - 12b^2 + 9b^2 = -b^2$